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Chapter 4 Study Guide
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5. Solve the equation. Show your steps!
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Sue bought jeans for $29.99 and a swee}t‘e*r‘fb“r‘ 18.99. She paid with a 100

dollar bill. How much change did she receive? T~
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There \’;v{gs a 70% chance of rain on Monday and a 37% chance of rain on
Tuesday. How much more likely was it to rain on Monday than on Tuesday?

’70‘/-——'37.‘/‘ = 5‘\/‘

If the n-umber of cel] phones inthe U, S mcreases by 1.5 mllhon each year,

“and there were about 125 Million 3y pnones in*he U. S in 2005, abnut

how ma ~/ nhones ‘ere there ir 20622
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9. Sam rides bike about 57 miles each week. Mark rides his bike 10. 3 miles
each day for 5 days a week. Who rides farther during the week, and by how
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10. Three Starburst weight as much as two ca
canes weight as much as one Snickers bar. }

ndy canes. Four candy

a. Draw 2 diagrams of a scale to help picture the situation above.
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b. if a Snickers weighs 12 ounces, how much does a Starburst weigh?
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c. How much does one candy cane weigh? i
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Fill in the blanks.
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